PROJECT NO.:  NET LENGTH:  ISLAND: DISTRICT:  DATE ADVERTISED: BID OPENED:	Permit Compliance, Various Locations on Oahu HWY-O-02-19 N/A Oahu Ewa and Honolulu				NSTRUCTION ANY, INC.		NSTRUCTION ORATION		AYKO UCTION INC	HAWAII W	ORKS, INC.	A CORPOR	CG RATION OF O, INC.	DEPAR <sup>*</sup> TRANSP	OF HAWAII TMENT OF PORTATION YS DIVISION
ITEM NO.	ITEM PID 1501	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
201.0100	Clearing and Grubbing	LS	LS	LS	\$40,000.00	LS	\$44,700.00	LS	\$35,000.00	LS	\$28,253.00	LS	\$22,000.00	LS	\$1,500.00
202.0100	Removal of Existing Irrigation Line	LS	LS	LS	\$4,000.00	LS	\$420.00	LS	\$6,500.00	LS	\$4,899.00	LS	\$7,310.00	LS	\$5,000.00
203.0100	Excavation and Embankment	LS	LS	LS	\$40,000.00	LS	\$70,350.00	LS	\$55,000.00	LS	\$52,851.00	LS	\$77,400.00	LS	\$33,600.00
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$40,000.00	LS	\$11,690.00	LS	\$25,000.00	LS	\$17,198.00	LS	\$43,700.00	LS	\$20,000.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00
618.0100	Soil Preparation	1590	SY	\$15.00	\$23,850.00	\$13.00	\$20,670.00	\$15.00	\$23,850.00	\$146.00	\$232,140.00	\$20.20	\$32,118.00	\$45.00	\$71,550.00
618.0200	Imported Compost, 2" Layer	10	SY	\$200.00	\$2,000.00	\$175.00	\$1,750.00	\$200.00	\$2,000.00	\$903.00	\$9,030.00	\$630.00	\$6,300.00	\$45.00	\$450.00
641.0100	High-Performance Hydraulic Erosion Control Hydro-Mulch Seeding Mix	LS	LS	LS	\$88,000.00	LS	\$99,630.00	LS	\$85,000.00	LS	\$159,960.00	LS	\$145,000.00	LS	\$20,700.00
641.0200	Additional Hydro-Mulch Seeding Mix Applications	FA	FA	FA	\$71,100.00	FA	\$71,100.00	FA	\$71,100.00	FA	\$71,100.00	FA	\$71,100.00	FA	\$71,100.00
642.0100	Tree Trimming	FA	FA	FA	\$1,000.00	FA	\$1,000.00	FA	\$1,000.00	FA	\$1,000.00	FA	\$1,000.00	FA	\$1,000.00
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
645.0100	Traffic Control	LS	LS	LS	\$35,000.00	LS	\$19,540.00	LS	\$90,000.00	LS	\$29,025.00	LS	\$74,200.00	LS	\$75,000.00
645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
648.0100	Field-Posted Drawings	LS	LS	LS	\$500.00	LS	\$610.00	LS	\$1,000.00	LS	\$500.00	LS	\$870.00	LS	\$1,500.00

PROJECT NO.:  NET LENGTH:  ISLAND: DISTRICT:  DATE ADVERTISED: BID OPENED:	N/A Oahu Ewa and Honolulu				INSTRUCTION ANY, INC.		NSTRUCTION DRATION		YKO CTION INC	HAWAII W	ORKS, INC.	A CORPOR	CG RATION OF D, INC.	DEPART TRANSPO	OF HAWAII TMENT OF ORTATION 'S DIVISION
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	PID 1501 - Cont'd  Erosion Control Matting, Type 1	LS	LS	LS	\$50,000.00	LS	\$50,060.00	LS	\$120,000.00	LS	\$32,841.00	LS	\$134,585.00	LS	\$200,000.00
695.0100	Maintenance of Existing Field Offices	FA	FA	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00
699.0100	Mobilization (Not to Exceed 6% of the Sum of All Items (PID 1501) Excluding the Bid Price of this Item)	LS	LS	LS	\$24,000.00	LS	\$15,000.00	LS	\$35,000.00	LS	\$34,000.00	LS	\$35,500.00	LS	\$34,250.00
	Sum of All Items (PID 1501)				\$489,450.00		*\$476,520.00		\$620,450.00		\$742,797.00		\$721,083.00		\$605,650.00

	Erosion Control and Best Management Practices for Storm Water Permit Compliance, Various Locations on Oahu														
PROJECT NO.:	: HWY-O-02-19														
NET LENGTH:	: N/A			KAIKOR CO	NSTRUCTION	RON'S COL	NSTRUCTION	DRA	ΥΚΟ	HAWAII WO	ORKS INC	T	CG		OF HAWAII TMENT OF
ISLAND: DISTRICT:	Oahu Ewa and Honolulu				ANY, INC.		ORATION		CTION INC	navali W	onno, mo.	A CORPOR IDAHO	RATION OF	TRANSP	PORTATION YS DIVISION
DATE ADVERTISED BID OPENED	): May 27, 2020 June 30, 2020														
COMPLETION TIME	:: Three Hundred and Sixty Five (365) Working Days						_								
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT						
	Pearl City Baseyard														
202.0100	Removal of Existing Downspout Filters	LS	LS	LS	\$10,000.00	LS	\$350.00	LS	\$10,000.00	LS	\$5,476.00	LS	\$7,500.00	LS	\$400.00
202.0200	Removal of Existing Portable Concrete Barriers	LS	LS	LS	\$10,000.00	LS	\$9,000.00	LS	\$2,500.00	LS	\$11,485.00	LS	\$8,500.00	LS	\$5,000.00
202.0300	Removal of Existing Asphalt Concrete Pavement	LS	LS	LS	\$75,000.00	LS	\$13,530.00	LS	\$20,000.00	LS	\$44,533.00	LS	\$241,000.00	LS	\$150,000.00
202.0400	Removal of Existing Gravel	LS	LS	LS	\$10,000.00	LS	\$4,020.00	LS	\$8,000.00	LS	\$16,162.00	LS	\$11,500.00	LS	\$7,500.00
203.0100	Excavation and Embankment	LS	LS	LS	\$200,000.00	LS	\$260,500.00	LS	\$130,000.00	LS	\$317,016.00	LS	\$119,800.00	LS	\$403,600.00
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$28,000.00	LS	\$11,450.00	LS	\$50,000.00	LS	\$17,198.00	LS	\$9,600.00	LS	\$10,000.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$15,000.00	FA	\$15,000.00	FA	\$15,000.00	FA	\$15,000.00	FA	\$15,000.00	FA	\$15,000.00
301.0100	Hot Mix Asphalt Base Course	1939	Ton	\$170.00	\$329,630.00	\$205.00	\$397,495.00	\$245.00	\$475,055.00	\$194.00	\$376,166.00	\$282.00	\$546,798.00	\$300.00	\$581,700.00
304.0100	Aggregate Base	9	CY	\$1,000.00	\$9,000.00	\$450.00	\$4,050.00	\$730.00	\$6,570.00	\$655.00	\$5,895.00	\$596.00	\$5,364.00	\$400.00	\$3,600.00
305.0100	Aggregate Subbase	1795	CY	\$120.00	\$215,400.00	\$145.00	\$260,275.00	\$155.00	\$278,225.00	\$179.00	\$321,305.00	\$142.60	\$255,967.00	\$200.00	\$359,000.00
401.0100	HMA Pavement, Mix No. IV	970	Ton	\$180.00	\$174,600.00	\$234.00	\$226,980.00	\$265.00	\$257,050.00	\$238.00	\$230,860.00	\$248.10	\$240,657.00	\$150.00	\$145,500.00
603.0100	Clean Existing Culverts	FA	FA	FA	\$1,000.00	FA	\$1,000.00	FA	\$1,000.00	FA	\$1,000.00	FA	\$1,000.00	FA	\$1,000.00
611.0100	Hand-Laid Riprap	LS	LS	LS	\$3,000.00	LS	\$1,780.00	LS	\$12,000.00	LS	\$5,160.00	LS	\$10,200.00	LS	\$1,000.00
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00
645.0100	Traffic Control	LS	LS	LS	\$4,000.00	LS	\$6,980.00	LS	\$18,000.00	LS	\$116,100.00	LS	\$4,500.00	LS	\$1,000.00

PROJECT NO.:  NET LENGTH:  ISLAND: DISTRICT:  DATE ADVERTISED: BID OPENED:	N/A Oahu Ewa and Honolulu				INSTRUCTION ANY, INC.		NSTRUCTION ORATION		AYKO JCTION INC	HAWAII W	ORKS, INC.	A CORPOR	CG RATION OF O, INC.	DEPAR <sup>-</sup> TRANSP	OF HAWAII TMENT OF ORTATION /S DIVISION
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
TEM IVO.	Pearl City Baseyard - Cont'd	Q07.111111	OTHI OCED	OTTITIOE	74000111	0111111102	744100141	0111111102	7 WIG 514 1	0111111102	7400141	OTHIT THEE	741100111		711100111
645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$2,500.00	FA	\$2,500.00	FA	\$2,500.00	FA	\$2,500.00	FA	\$2,500.00	FA	\$2,500.00
648.0100	Field-Posted Drawings	LS	LS	LS	\$300.00	LS	\$610.00	LS	\$1,000.00	LS	\$500.00	LS	\$818.00	LS	\$1,500.00
681.0100	Relocation of Portable Concrete Barriers	LS	LS	LS	\$10,000.00	LS	\$8,990.00	LS	\$2,500.00	LS	\$5,269.00	LS	\$9,100.00	LS	\$10,000.00
682.0100	Downspout Filter Boxes and Outlet Pipe Screens	6	EA	\$12,000.00	\$72,000.00	\$14,200.00	\$85,200.00	\$10,000.00	\$60,000.00	\$7,577.00	\$45,462.00	\$9,078.00	*\$54,468.00	\$15,000.00	\$90,000.00
682.0200	Maintenance of Downspout Filter Boxes and Outlet Pipe Screens	9	Month	\$2,000.00	\$18,000.00	\$1,550.00	\$13,950.00	\$1,500.00	\$13,500.00	\$2,264.00	\$20,376.00	\$623.00	\$5,607.00	\$1,000.00	\$9,000.00
699.0100	Mobilization (Not to Exceed 6% of the Sum of All Items (Pearl City Baseyard) Excluding the Bid Price of this Item)	LS	LS	LS	\$68,000.00	LS	\$45,770.00	LS	\$80,000.00	LS	\$90,000.00	LS	\$73,950.00	LS	\$108,100.00
	Sum of All Items (Pearl City Baseyard)				\$1,260,430.00		\$1,374,430.00		\$1,447,900.00		\$1,652,463.00		*\$1,628,829.00		\$1,910,400.00

	Erosion Control and Best Management Practices for Storm Water Permit Compliance, Various Locations on Oahu														
PROJECT NO.:	HWY-O-02-19														
NET LENGTH:	N/A			KAIKOR CO	NSTRUCTION	RON'S COI	NSTRUCTION	DRA	VKO.	HAWAII W(	DRKS INC	τι	CG		OF HAWAII FMENT OF
ISLAND: DISTRICT:	Oahu Ewa and Honolulu				ANY, INC.		ORATION		CTION INC	IIAWAII W	orro, ino.	A CORPOR		TRANSP	ORTATION 'S DIVISION
DATE ADVERTISED BID OPENED	May 27, 2020 Usune 30, 2020														
COMPLETION TIME	Three Hundred and Sixty Five (365) Working Days														
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT										
	PID 467														
201.0100	Clearing and Grubbing	LS	LS	LS	\$2,000.00	LS	\$130.00	LS	\$10,000.00	LS	\$32,549.00	LS	\$7,010.00	LS	\$500.00
202.0100	Removal of Existing Asphalt Concrete Pavement	LS	LS	LS	\$5,000.00	LS	\$1,965.00	LS	\$5,800.00	LS	\$3,064.00	LS	\$27,600.00	LS	\$4,900.00
202.0200	Removal of Existing Concrete Pavement	LS	LS	LS	\$4,000.00	LS	\$315.00	LS	\$2,500.00	LS	\$3,537.00	LS	\$4,900.00	LS	\$1,700.00
202.0300	Removal of Existing Gravel	LS	LS	LS	\$1,000.00	LS	\$1,580.00	LS	\$2,500.00	LS	\$1,769.00	LS	\$4,900.00	LS	\$1,500.00
202.0400	Removal of Existing Concrete Swale	LS	LS	LS	\$2,000.00	LS	\$85.00	LS	\$2,000.00	LS	\$746.00	LS	\$4,900.00	LS	\$1,400.00
202.0500	Removal of Existing Concrete Curb and Gutter	LS	LS	LS	\$3,200.00	LS	\$115.00	LS	\$2,000.00	LS	\$746.00	LS	\$5,800.00	LS	\$1,100.00
202.0600	Removal of Existing Bollard	LS	LS	LS	\$100.00	LS	\$175.00	LS	\$2,000.00	LS	\$246.00	LS	\$2,100.00	LS	\$7,000.00
203.0100	Excavation and Embankment	LS	LS	LS	\$3,000.00	LS	\$6,640.00	LS	\$10,000.00	LS	\$6,127.00	LS	\$14,000.00	LS	\$2,100.00
203.0200	Testing, Handling, Treatment and Disposal of Contaminated Material	FA	FA	FA	\$50,000.00										
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$1,500.00	LS	\$510.00	LS	\$10,000.00	LS	\$5,432.00	LS	\$20,000.00	LS	\$1,500.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$20,000.00										
301.0100	Hot Mix Asphalt Base Course	38	Ton	\$420.00	\$15,960.00	\$360.00	\$13,680.00	\$615.00	\$23,370.00	\$553.00	\$21,014.00	\$539.50	\$20,501.00	\$300.00	\$11,400.00
304.0100	Aggregate Base	3	CY	\$375.00	\$1,125.00	\$1,060.00	\$3,180.00	\$710.00	\$2,130.00	\$437.00	\$1,311.00	\$2,400.00	\$7,200.00	\$200.00	\$600.00
305.1000	Aggregate Subbase	18	CY	\$250.00	\$4,500.00	\$270.00	\$4,860.00	\$490.00	\$8,820.00	\$247.00	\$4,446.00	\$1,000.00	\$18,000.00	\$200.00	\$3,600.00
	<u> </u>														

	Erosion Control and Best Management Practices for Storm Water Permit Compliance, Various Locations on Oahu HWY-O-02-19 N/A			KAIKOR CO	NSTRUCTION	RON'S CO	NSTRUCTION	DRA	ΛΥΚΟ	HAWAII W	ORKS, INC.	т	CG		OF HAWAII TMENT OF
ISLAND: DISTRICT:	Oahu Ewa and Honolulu			COMP	ANY, INC.	CORP	DRATION	CONSTRU	ICTION INC				RATION OF D, INC.		ORTATION S DIVISION
DATE ADVERTISED BID OPENED	: May 27, 2020 : June 30, 2020														
COMPLETION TIME	: Three Hundred and Sixty Five (365) Working Days	ADDDOV	т					<u> </u>		T.					
ITEM NO.	PID 467 - Cont'd	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT								
401.0100	HMA Pavement, Mix No. IV	13	Ton	\$925.00	\$12,025.00	\$400.00	\$5,200.00	\$785.00	\$10,205.00	\$845.00	\$10,985.00	\$1,143.00	\$14,859.00	\$150.00	\$1,950.00
503.0100	Concrete Swale	LS	LS	LS	\$3,300.00	LS	\$600.00	LS	\$3,000.00	LS	\$5,981.00	LS	\$7,280.00	LS	\$2,000.00
603.0100	Clean Existing Culverts	FA	FA	FA	\$5,000.00	FA	\$5,000.00								
604.0100	Concrete Structures, Culvert Inlet Retrofit	LS	LS	LS	\$7,000.00	LS	\$8,100.00	LS	\$20,000.00	LS	\$5,772.00	LS	\$24,000.00	LS	\$11,000.00
604.0200	Maintenance of Culvert Inlet Retrofit	9	Month	\$1,000.00	\$9,000.00	\$545.00	\$4,905.00	\$1,100.00	\$9,900.00	\$2,264.00	\$20,376.00	\$500.00	\$4,500.00	\$500.00	\$4,500.00
617.0100	Imported Planting Soil, 4" Layer	LS	LS	LS	\$500.00	LS	\$880.00	LS	\$5,000.00	LS	\$9,030.00	LS	\$4,300.00	LS	\$65.00
638.0100	Curb and Gutter, Type 2D	LS	LS	LS	\$4,000.00	LS	\$6,600.00	LS	\$4,000.00	LS	\$6,586.00	LS	\$12,600.00	LS	\$5,250.00
638.0200	Drop Curb	LS	LS	LS	\$500.00	LS	\$400.00	LS	\$1,000.00	LS	\$1,154.00	LS	\$1,700.00	LS	\$1,200.00
641.0100	Hydro-Mulch Seeding Mix	LS	LS	LS	\$2,000.00	LS	\$41,025.00	LS	\$1,000.00	LS	\$12,900.00	LS	\$59,200.00	LS	\$1,250.00
641.0200	Additional Hydro-Mulch Seeding Mix Applications	FA	FA	FA	\$1,500.00	FA	\$1,500.00								
642.0100	Tree Trimming	FA	FA	FA	\$1,000.00	FA	\$1,000.00								
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$2,000.00	FA	\$2,000.00								
645.0100	Traffic Control	LS	LS	LS	\$20,000.00	LS	\$4,600.00	LS	\$50,000.00	LS	\$9,675.00	LS	\$18,600.00	LS	\$25,000.00
645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00								

PROJECT NO.:  NET LENGTH:  ISLAND: DISTRICT:  DATE ADVERTISED: BID OPENED:	N/A Oahu Ewa and Honolulu				INSTRUCTION ANY, INC.		NSTRUCTION DRATION		YKO ICTION INC	HAWAII WC	ORKS, INC.	TC A CORPOR IDAHO	ATION OF	DEPAR1 TRANSP	OF HAWAII IMENT OF ORTATION 'S DIVISION
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	PID 467 - Cont'd	GG, water in			7 C C		, · · · · · · · · · · · · · · · · ·								, <b>.</b>
648.0100	Field-Posted Drawings	LS	LS	LS	\$300.00	LS	\$610.00	LS	\$1,000.00	LS	\$500.00	LS	\$900.00	LS	\$1,500.00
659.0100	Erosion Control Matting, Type 2	LS	LS	LS	\$800.00	LS	\$920.00	LS	\$2,000.00	LS	\$32,841.00	LS	\$2,600.00	LS	\$500.00
683.0100	Drain Inlet Filter Basket	1	EA	\$5,600.00	\$5,600.00	\$4,860.00	\$4,860.00	\$7,000.00	\$7,000.00	\$12,121.00	\$12,121.00	\$8,000.00	\$8,000.00	\$6,000.00	\$6,000.00
683.0200	Maintenance of Drain Inlet Filter Basket	9	Month	\$1,000.00	\$9,000.00	\$635.00	\$5,715.00	\$1,100.00	\$9,900.00	\$2,264.00	\$20,376.00	\$500.00	\$4,500.00	\$500.00	\$4,500.00
699.0100	Mobilization (Not to Exceed 6% of the Sum of All Items (PID 467) Excluding the Bid Price of this Item)	LS	LS	LS	\$10,000.00	LS	\$6,500.00	LS	\$17,025.00	LS	\$13,000.00	LS	\$19,000.00	LS	\$11,450.00
	Sum of All Items (PID 467)				\$216,910.00		\$213,650.00		\$311,650.00		\$331,784.00		\$408,450.00		\$202,965.00

Project Manager: Keith Miyashiro

Date: July 6, 2020

PROJECT: Erosion Control and Best Management Practices for Storm Water Permit Compliance, Various Locations on Oahu  PROJECT NO.: HWY-O-02-19  NET LENGTH: N/A  ISLAND: Oahu DISTRICT: Ewa and Honolulu  DATE ADVERTISED: May 27, 2020 BID OPENED: June 30, 2020  COMPLETION TIME: Three Hundred and Sixty Five (365) Working Days	KAIKOR CONSTRUCTION COMPANY, INC.	RON'S CONSTRUCTION CORPORATION	DRAYKO CONSTRUCTION INC	HAWAII WORKS, INC.	TCG A CORPORATION OF IDAHO, INC.	STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION
Sum of All Items	\$1,966,790.00	* \$2,064,600.00	\$2,380,000.00	\$2,727,044.00	* \$2,758,362.00	\$2,719,015.00
Hawaii Products Preference	\$58,094.00	\$64,992.60	\$54,240.00	\$36,360.00	\$50,104.10	\$0.00
Apprenticeship Agreement Preference	** \$0.00	** \$0.00	** \$0.00	** \$0.00	** \$0.00	\$0.00
Amount for Comparison of Bids	\$1,908,696.00	\$1,999,607.40	\$2,325,760.00	\$2,690,684.00	\$2,708,257.90	\$2,719,015.00

<sup>\*\* -</sup> Per Comptroller's Memorandum No. 2011-25, dated October 5, 2011, Subject: Hawaii Revised Statutes §103-55.6 (Act 17, SLH 2009) - Apprenticeship Program, as stated in Section 4, B, (4) "The completed Certification Form 1 for each trade must be submitted by the offeror with the offer. A facsimile or copy is acceptable to be submitted with the offer; however, the signed original must be submitted within five (5) working days of the due date of the offer. If the signed original is not received within this timeframe, the preference may be denied. Previous certifications shall not apply unless allowed by the solicitation." Since completed and signed originals were not received within aforementioned timeframe, Apprenticeship Agreement Preference is ineligible.

\* - Ron's Construction Corporation: Mathematical Error \* - TCG, A Corporation of Idaho, Inc.: Mathematical Error